Charleston

Words by Cecil Mack Music by James P. Johnson
Arranged by Spencer Gay
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Charles ton, Charles ton, made in Car o lin a
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Some dance, some prance, ' say there's noth ing fin er than the
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Charles ton, Charles ton, Lord how you can shuf fle
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Ev' ry step  you do leads to some thing new, man I'm tel ling you It's a la pa zoo,
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Buck dance, wing dance, will be a back num ber, but the
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Charles ton, the new Charles ton, that dance is sure ly a com er,
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Some time, you'll dance it one time, the dance called the Charles ton,
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made in South Car o line
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